Basic graphs:  trig, log, exponential, parabola, circle, line, cubic, 1/x, square root, cube root


 	Transformations
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Piecewise functions (graph and evaluate)
	Vertical asymptotes
	Rational functions
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Factoring:  negative exponents,  fractional exponents,  fractions
Simplify expressions:  difference quotients
Properties of logarithms
Function notation:  composition
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Domain and range
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Symmetry
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Inverse Functions
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Partial Fractions	
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Trig
Solving logarithmic, exponential, absolute value, quadratic, rational, radical
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Trig identities
Trig values for special angles
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Trig equations
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Absolute value:  meaning, graph, inequalities
Polar coordinates
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Parametric equations
Vectors
Systems of linear and non-linear equations
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Non-linear inequalities
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Due:  5/3/13
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[ 1.+ Question Deails SPreCalcs 26.013. [1615878] -
Find the domain of the function.
N hx) = (x—3)
O [3,0)
O (-0, )
N O[3, )
O [EG =
. O (-3, )
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PEGH

EUES SPreCalc 5.2.079. [1715962] -

Determine whether the function is even, odd, or neither.
)
O even

O odd

i )

O[] neither

2+ SPreCalcs 53.049. [1870672] -

“The graph of one complete period of a sine curve is given.

v
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—d2? + 20z — 22
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[

‘3. - SPreCalc6 26.029. [1696131] -

Use the given graphs of fand g to evaluate the expression. (Assume that each point lies on the gridiines.)

~ (g N3 = 23

A

SPreCalcs 2.7.023M1. [1699328] -
Vi

« o n

If fix) = 8 — 4x, find F(-4).
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5 SPreCalcs 27.023 M1, [1699328] -

If fix) = 8 — 4x, find f(-4).

LE

0 SPreCalc6 27.053. [1614302] -

Find the inverse function of f.

fx)=10-2, x20

300 =

+ SPreCalc6 27.079. [2044160] -

Use the graph of f to sketch the graph of £ %

« o n
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0 SPreCalc6 27.053. [1614302] -

Find the inverse function of f.
fxX)=10-x%, x20

300 =

+ SPreCalc6 27.079. [2044160] -

Use the graph of f to sketch the graph of £ %
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SPreCalc6 10.7.037. [1615889] -

Find the partial fraction decomposition of the rational function
5x— 10

LIRS SPreCalc6 10.8.011. [1615218] -

Use the elimination method to find all solutions of the system of equations. (Order your answers from smallest to largest x,
then from smallest to largest y.)
{4)8 - p=3
X6

i}

« o n
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Use the Laws of Logarithms to combine the expression.

]
[

4\ugx—%\ug(xz +1) +2log(x — 1)

LS SPreCalc6 45049 M. [1614967] -

Solve the logarithmic equation for x.
10g:(x + 6) ~ loga(x = 6) = 2

| 34/5]

LA ‘SPreCalc6 45021 M1 [1613620] -

Find the solution of the exponential equation, correct to four decimal places.

e

| 37.2754]

« o n
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1+V=2

i E S

-+ SPreCalcs 3.6.059. [1614800]

B Find all zeros of the polynomial. (Enter your answers as a comma-separated list. If a root has multiplicity greater than one,
only enter the root once.)

- Px)=4x + 4 + 5% + 4x+ 1

1
=il
2

O ‘SPreCalcs 3.6.041.ML. [1616158]

Find a polynomial with integer coefficients that satisfies the given conditions.

R has degree 4 and zeros 4 — 3i and 2, with 2 a zero of multiplicity 2.

' —122° 4 612 — 1322 + 100

« o n
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(a) How far is the satellite from station A? w
N [ 1833] mi H
(b) How high is the satellite above the ground?
| 1830| mi
N 8.+ SPreCalc6 1.10.035 MI. [1614159] -
Find an equation of the line that satisfies the given conditions
Through (-1, —2); perpendicular to the line 2x + Sy + 6 = 0
5r—2y+1=10
9.+ SPreCalch 15.093. [1615602] - ;‘
Find all real solutions of the equation. (Enter your answers as a comma-separated list. If there is no real solution, enter NO
REAL SOLUTION.) -
- 2+ Vx+1=8 o
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| 510| ft

PEGH

How high is the window? (Round your answer to the nearest foot.)
| 187| ft

2 . SPreCalc6 6.2.041. [1762568] -

Find x rounded to one decimal place. (Assume & = 120.)
x= | 277.1

]

SPreCalc6 6.2.023. [1762549] -
>
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SPreCalc6 55.041. [1775349] -

Find the exact value of the expression, if it is defined. (If an answer does not exist, enter DNE.)
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a 2. -+ SPreCalc6 6.3.051. [1769030] -

Find the values of the trigonometric functions of 8 from the information given.
cos=-10 tang<0

N 11
o
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Quiz 13 (1.2-9.1) (3009331)

5.3 (2593331)
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8.1(2576795)

Quiz 12 (1.2-7.5) (2993478)

7.4 (2578790)
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e

Give two other polar coordinate representations of the point, one with r < 0 and one with r > 0.

{, 1 J’l} ) (smaller r-value)

e = ( G

[N

) (larger r-value)

Convert the polar equation to rectangular coordinates. (Use variables x and y as needed.)

+cos B

Solve the equation. (List your answers counterclockwise about the origin starting at the positive real axis. Express 8 in
radians.)

Z+1=0





image20.png
(@ Assignment Previewer - Windows Internet Explorer

webassign.net/v4cgimjol

Calibr (Body) Fie Edit View Favorites Tools Help

5z | x Googe © |0 seorch < |- B share | More>>

{4)87 ¥ =3
26

PEGH

=
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e =(

12 SPreCalc6 7.5.033. [1733467] -

An equation s given. (Enter your answers as a comma-separated list. Round terms to three decimal places where
appropriate. If there is no solution, enter NO SOLUTION.)

i}

2sin6tanf-tanB=1-2sin6

(a) Find all solutions of the equation

6=

;! (b) Find the solutions

« o n
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Give two other polar coordinate representations of the point, one with r < 0 and one with r > 0.

(r, 8) {—1 —l} ) (smaller r-value)
G

(. 8) {I i} ) (larger r-value)

0 SPreCalc6 8.1.057. [1787359] -

Convert the polar equation to rectangular coordinates. (Use variables x and y as needed.)

r=5+cos6

(e +17)
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Graph the solution set.

Use the tools to enter your answer.

Solve the nonlinear inequality. Express the solution using interval notation.
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Practice problems for Exam #1 (285¢
Quiz 5 (1.2-27) (2851509)
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File Edt View
x Google
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e

Use the Inverse Function Property to determine whether £ and g are inverses of each other.
f)=x-11, x20;

g0) = Vx+11, x2-11

2

o

O fand g are not inverses of each other

fand g are inverses of each other

A function fis given, and the indicated transformations are applied to its graph (in the given order). Write the equation for the
final transformed graph.

fx) = 5; stretch vertically by a factor of 2, shift downward 9 units, and shift 4 units to the right.

1) -9

The graph of fis given. Sketch the graphs of the following functions. (Select the correct graphs.)
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A quadratic function is given.
fix)=5¢ - 10x+1
(a) Express the quadratic function in standard form.

) = 5 —1) —4

(b) Sketch its graph.
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minimum value

PEGH

O SPreCalcs 32029 MI.[1613596] -

Factor the polynomial and use the factored form to find the zeros. Then sketch the graph. (If a zero has multiplicity of two or
higher, repeat its value that many times.)

Px) = = +5F + 42x

]

| -6| (smallest value)
I~ 0

|/ 7| (largest value)
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amplitude

period

PEGH

phase shift

(b) Write an equation that represents the curve in the form

y = asin k(x - b).

i )

B+ SPreCalcs 53.037. [1716434] -

Find the amplitude, period, and phase shift of the function, and graph one complete period.

1.1 _z
y=1-Loos(ax-%)

[21/2] (amplitude)

(eriod)

« o n

(phase shift)
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]
[

Find a polynomial with integer coefficients that satisfies the given conditions.

R has degree 4 and zeros 4 — 3i and 2, with 2 a zero of multiplicity 2.

RO = 2 —120% 4 6127 — 1322 + 100

+ sprecalc6 37.069.nva [1615843] -

Find the slant asymptote and the vertical asymptote. (If an answer does not exist, enter DNE.)

) =X tax+3
x—1

slant asymptote

vertical asymptote  x

Sketch a graph of the function.

« o n
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1 SPreCalc6 26,013 [1615878] - »,

Find the domain of the function.

]
@
h(x) = (x - 3y a

(3. )

(00, 0)

0 ‘SPreCalc6 2.6.025.M1. [1699281]

Use f(x) = 2x -5 and g(x) = 3 — X* to evaluate the expression.
@ (feq)

« o n
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